e Two documents A and B. Suppose A contains 1 " Groot”" and v’i CM A s /“
9 other words, and B contains 8 " Groot” and 2 other words. ——T__ .
One document is taken out at random (with equal g e fAj é

prckbulntyﬁ and one word is picked out at random (all words

lo 4
with equal probability). The word is "Groot”. What is t 25 A, /’7;"
probability that the document is A? S
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Question 14 ¢

* [5 points] Andy is a three-month old baby.  He can be happy (state 0), hungry (state 1), or having a wet diaper /V\ l Q ' é}'-\‘
(state 2). Initially when he wakes up from his nap at 1pm, he is happy. If he is happy. there is a 0.38 chance that he
will remain happy one hour later, a 0 2 chance to be hungry by then, and a 0 42 chance to have a wet diaper

Similarly, if he is hungry, one hour later he will be happy with 0.33 chance, hungry with 0.37 chance, and wet diaper

with 0.3 chance. If he has a wet diaper, one hour later he will be happy with 0.35 chance, hungry with 0.13 chance .
and wet diaper with 0 52 chance He can smile (observation 0) or cry (observation 1). When he is happy, he smiles / ™ ! [ ( .

0.47 of the time and cries 0.53 of the time; when he is hungry, he smiles 0.5 of the time and cries 0.5 of the time;

when he has a wel diaper, he smiles 0.12 of the time and cries 0.88 of the ime —
What is the probability that the particular pbserved sequence ciy, smile (or _1_ Qinthe dnaéam) happens?
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